
A

STEP 1:

2

2

1

B

STEP 2:

REPEAT STEP 2 FOR THE MIDDLE TRAY IF THE TROLLEY IS A 3H.

1

C

STEP 3 (OPTION):

B
1 : 2

5

6

A
1 : 2 5

6

DO NOT USE THIS HOLE 
FOR STAINLESS STEEL TRAYS

C
1 : 5

3

4

USE THE INCLUDED M10 HEX-KEY TO FASTEN THE HANDLE WITH 
M10-SCREWS.

ASSEMBLY INSTRUCTIONS - SERVING TROLLEYS (FLATPACK)

PUT ONE OF THE TRAYS UPSIDE DOWN ON A SOFT SURFACE AND PLACE THE 
FRAMES AS SHOWN IN THE PICTURE ABOVE. 
USE THE INCLUDED M6 HEX-KEY TO FASTEN THEM WITH SPRING 
WASHERS AND M6-SCREWS.

INCLUDED TOOLS FOR ASSEMBLY:
HEX-KEYS (M6 AND M10)

Pos Qty 2H Qty 3H Name

1 2 3 TRAY

2 2 2 FRAME LEFT/RIGHT

3 1 1 HANDLE

4 2 2 SCREW M10x20

5 8 12 SCREW M6x14

6 8 12 SPRING WASHER Ø6


	Sheet1
	Drawing View1
	Alternate Position1
	Drawing View2
	Drawing View4
	Drawing View5
	Detail View B (1 : 2)
	Detail View A (1 : 2)
	Detail View C (1 : 5)


